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import sys
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sys.path.append("statlib™)

from Xtest import binom_test

binom_test(x, n, p=0.5, alternative="two_sided", conflevel=0.95, verbose=True)
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"conflevel" (EERS

"pvalue" p fil
"method" BUEFEA
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scipy.stats.binom_test() ZffiJ,

import scipy.stats
print("p =", scipy.stats.binom_test(l, 10))

p = 0.021484374999999997

binom_test() Zfli9,

import sys
sys.path.append("statlib")
from xtest import binom_test

a = binom_test(1l, 10)

Exact binomial test

data: 1 and 10

number of successes = 1, number of trials = 10, p value = 0.02148
alternative hypothesis: true probability of success is not equal to 0.5
95 percent confidence interval: [0.0025286, 0.44502]

sample estimates: probability of success = 0.5
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scipy.stats.binom_test(l, 10, alternative="greater")

0.9990234375

binom_test(l, 10, alternative="greater", verbose=False)["pvalue"]

0.9990234375

scipy.stats.binom_test(l, 10, alternative="less")

0.010742187499999998

binom_test(l, 10, alternative="less", verbose=False)["pvalue"]

0.010742187499999998



